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Part 1 LiStening Comprehension
(20 minutes)

Section A

Directions: In this section, you. will hear 10 short con-
versations. At the end of each conversation, a question
will be asked about what was said. The conversation
and question will be spoken only once. After each
question there will be a pause. During the pause, you
must read the four suggested answers marked A), B),
) and D), and decide which is the best answer. Then
blacken the corresponding letter on the Answer Sheet with
a pencil,
Example: You will hear: -
You will read: A) At the office.

B) In the waiting room.

C) At the airport.

D) In a restaurant.

From the conversation we know that the two were
talking about some work they have to finish in the
evening. This is most likely to have taken place at
the office. Therefore, A): “At the office” is the best

7



answer.

You should choose answer A on the Answer

Sheet and blacken it with a pencil.

1. A)
B)
C)
D)

2. A)
B)
C)
D)

3. A)
B)

4. A)
B)
C)
D)

5. A).

B)
<)
D)
6. A)
B)
<)
' D)
7. A)

Sample Answer e B CD
Yes, he may attend -it.
Yes, he will by all means.
No, he can’t attend it.
No, he doesn't want to attend it.
She doesn’t want to answer the question.
She doesn't understand what the man said.
She is also a newcomer in the city.
She is going that way, too.
One. C) Three.
Twe. D) Four.
He will no longer ask for their help.
He will regret not having their help.
He still needs their help.
He has to manage without their help.
She is not feeling very well.
She is very ill
She is annoyed with the doctor.
She is badly hurt.
Things to wear.
The warm weather.
Best material for making clothes.
A bright shirt.
In a restaurant.



B) At the railway station.
C) In the post office.
D) At the airport.
8. A) 6:45; C) 115
B) 7:45; D) 6:15;
9. A) Two weeks from now.
B) In about two days.
~C) He hasn’t decided yet.
D) In four weeks.
10. A) A double room.
B) A single room.
C) A room on the second floor.
D) A room on the top floor.

Section B

Directions: In this section, you will hear 3 short. pas-
sages. At the end of each passage, you will hear some
questions. Both the passage and the questions will be
spoken only once. After you hear one question, you
must choose the best answer from the four choices
marked A), B), C)' and D); Then blacken the cor-
responding letter on the Answer Sheet with a pencil.
Passage 1 : ‘

Questions 11 to 13 are based on the passage you have
just heard.
11, A) Listening to music.



B)
<)
D)
12. A)
B)
C)
D)
13. A)
B)

)
D)

Swimming.

Walking.

Going to movies.

Running.

Cycling.

Fishing.

Hunting.

Swiss people are very frank.

Switzerland has a favourable climate for sport-
ing activities.

Switzerland has a variety of attractions.
Switzerland is one of the most beautiful coun-

tries in Europe.

Passage 11

Questions 14 to 16 are based on the passage you have

just heard,

14.- A)
B

D)
15. A)
B)
<)
D)

10

To find out how clever monkeys were.

To test the intelligence of diffcr;nt animals.
To compare “he difference between man and the
monkey.

To find out how monkeys search for food.

To give the monkey a surprise.

To see how the monkey ate from a box:

To see how soon the monkey could find it.

To tind out how the monkey would epen the
box.



6. A)
B)
C)
D)

By watching it through the keyhole.
By waiting outside the door.

By kneeling down at the door.

By putting it in a small box.

Passage 111
Questions 17 to 20 are based on the passage you have
just heard;

7. A)
B)
C)
D)
8. A)
B)
<)
D)
19. A)
B)
C)
D)
20. A)
B)
C)
D)

He thought experts were more needed there.

He wanted to have a good time there,
He was invited to work there.

He didn’t like to stay in Shanghai any longsar

Nineteen.

Sixty-five.

Eighty-four.

Fifty.

The food in Nanping.

The organization of the class.

The discussion in the class.

The co-operative spirit of the students.
It was interesting.

It was a valuable experience.

It was too far away from big cities.
It was a difficult course to teach.

11



Part II Reading Comprehension
(35 minutes)

Directions: There are 4 reading passages in this parti
Each passage is followed by some questions. For each
question there are four suggested answers marked A),
B), C) and D). You should choose the ONE best
answer and blacken the corresponding letter on the
Answer Sheet with a pencil.
Questions 21 to 25 are based on the following passage:

The advantages and disadvantages of a large popu-
lation have long been a subject of discussion among
economists. It has been argued that the supply of good
land is limited. To feed a large population, inferior
land must be cultivated and the good land worked
intensively. Thus, each person produces less and this
means a lower averagz income than could be obtained
with a smaller popul:tion. Other economists have argued
that a large population gives more scope for specialization
and the development of facilities such as ports, roads
and railways, which are not likely to be built unless
there is a big demand to justify them.

One of the difficulties in carrying out a world-wide
birth control program lies in the fact that official at-
titudes to population growth vary from country to

12



country depending on the level of industrial development
and the availability of food and raw materials. In the
developing country where a vastly expanded population
is pressing hard upon the limits of food, space and
natural resources, it will be the first concern of govern-
ment to place a limit on the birthrate, whatever the
consequences may be. In a highly industrialized society
the problem may be more complex. A decreasing birthrate
may lead to unemployment because it results in a
declining market for manufactured goods. When the
pressure of population on housing declines, prices also
decline and the building industry is weakened. Faced
with considerations such as these, the government of a
developed country may well prefer to see a ‘slowly
increasing population, rather than one which is stable
or in decline.
21. A small population may mean ;

A) higher productivity, but a lower average income

B) lower productivity, but a higher average income

C) lower productivity and a lower average income

- D) higher productivity and a higher average income

22. According to the passage, a large population will

provide a chance for developing

~ A) agriculture C) industry

B) transport system D) national economy

23. In a developed country, people will perhaps go out

13



